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Instructions: 1. Put a v in the 0 if you know what the word means.
2. If you know the definition of the word, write it in.
Definition Terms of N9
# A topic of X NIWO v N.
N0 NDPpY O .
ND»92 ] 2.
N9 ] T.
NP 0 ]
90 [] ).
noNY 0 T.
N9 B m.
DN/ [] V.
NV’ 0 ’,
NOD [ X,
NI O 2.
NN N 2,
RN MD O 7.
NYPON N .

3. Can you make a »¥*4? Look at #2 above, what Py can be made from the word

III FH?
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1. Whatis a ¢mv?

Translate the underlined words in the chart below.

Complete the rest of the chart of when the vmv is 3299 or 909.

W N

Highlight all 9209 boxes 1 color and all 329 boxes a different color.

N3 ﬂ
......................... ﬂ,ﬂ’:’w

= 0N My

HOW TO DO NX49%) WORKSHEETS /a9ty mbYNw:

1. READ THE m9v, the lines, of X9 listed on the top of the worksheet.

2. AFTER making sure you can read the x99 ‘inside’, do the Teitch part of the worksheet.

3. THEN begin to answer the questions. Make sure you look up the answers INSIDE your
N9,

4. Use your ‘guided notes’ or translation sheets to help find answers.

5. NOTE: These pages do NOT have a border. The sheets w/ a border are “GUIDED
NOTES/N40) N9pv.

6. NOTE: The test questions are taken from these worksheets.
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&5 Match the following terms with their definitions. (rerms can be found in the Guided Notes)

OIN MY
APIN) NN 1229
AMaY’ oya
9 N2 NYIV DI MV
)\’ A \BI74
592 ny
w9 ™
01y 59V Y
491 N Nav NI
o) 9%V
Definitions:
N A renter SN Negligent
A Sheep 2 A free watchman
» A Penalty A A borrower
A Used 1719 w/o permission P Accident
N Item given over to be watched I Shected or Sold
) A paid watchman 30 Owner
3 Swearing, an oath Rk A penalty of twice the value
N A watchman Rak Stolen or lost
.0 Cow (Bull) 0 Witnesses
» A penalty 01:/;1'3;5 times the 5 The principle value
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n9tNY MYNY - Lines 1 - 9 (Please use your N91))

©)9nY — Translate : Write the translation or the word of the x91)/mwn

A REPR)) YN Pann
And he doesn’t " YTANY
want
N8Y” A free watchman yavwsy
451 nav A v3p of double
To the 9w (whom 5199 NYID)
the )79 was by)
byab Payments
Wipan of Aoypofdor5

Reminder: If thereis a *, answer by writing the words of the X9, only.
If there is a ¥+, write the words of the X913 and their translation.

What is the name of our p1a? *+

What Xno0on is our p9in?

What nv19 in the N7 n discusses the laws of the oy mw 7?

What is a o0 anwvw?

TRUE or FALSE: A o)n 9w is 2»n if he is yv9, negligent, in watching the nTpo.
TRUE or FALSE: A o)n 9w is 2»n if the NP9 is y7ax N 122, stolen or lost.

TRUE or FALSE: A o)n 9w is 2»n if an D)X, an accident, happens to the NTpo.

© 0 N o Uk~ W NP

10. In both the X¥»4q and the X9*9 was the 9mv obligated to pay?
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11.1f a 9mv makes a claim that would make him 9109 for the 219, what is he still required to

do?

12.1f a 9w makes a claim that would make him 7109 for the NP9, can he decide to still be

DYVYn, to pay, forit?

13. Which words of the mwn teach us that a oyn 9mIv can swear and be M5 from paying? *

14.When will a 233 be 2»n to pay Y95?

15. When will a 235 be 2»n to pay 'm 7?

16. If the /v decides to pay (even though he was MV9) does he now get the yp, (the

principle/ the value) of the stolen \y1p9?

17.Does the 9w receive 'M 1 ymYwn if he decided to be 7yawsh nxa X9 o u?

18.1f the 9w decides to be yaw), who gets the y1p, the Y95, and the 'y 1 ? *+
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9 - 18 MNY N9thI MYNY (Please use your X91))
©)9nY — Translate : Write the translation or the word of the x9%)/nwn
Gives over to be . Why does “it”
. Because if
acquired (the mwn) need
ND95 NI 9"MY
nin|
A great bother NN 2098
V9 To bring it up &
NN
119995 to take it out

1. What is the nbxv of the N33 on our mwn?

2. True or False: The N91) wants to know why the Nywn gave 2 examples about a 9w paying

for a 19 (instead of swearing and being 1v9)?

3. Which word begins the XY's \ypn? *

4. If the mwn had only said that a 9w gets the Y95 by a 19903, why would | say that only by

animals there is Y95 but not by ©¥55?

5. If the Nwn had only said that a 9mv gets the Y95 by 895, why would | think that only by

vessels there is Y95 but not by a nnNa?

6. What two things is the X9) referring to when it says the word o1 (“they are needed”) ?
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1# NOMO - MIVN : NN

1. What type of 9w is the 9V in our mwn?
a. DYN MY b. oW C. 7DV MY d. YN

2. What choice is the 9w in our mwn given?

3. In the v of our MwnN the 9w chose to and therefore if the 23 ever pays

595 or ' 1 it would go to the

4. In the 890 of our NN the 9w chose to and therefore if the 23) ever pays 71

'M/995 it would go to the

5. Whenever the 9w is 7709” it means...
A. He has no choice but to swear
B. He has a choice: pay or swear
C. He is 100% 79 with nothing else to do

6. Which line is NOT included in a 00w nyav?

A. “lI don’t have the )19 in my possession
B. “l wasn’t nyvis with it”

C. “I never agreed to watch it”

D. “I didn’t use the )Y1pa”

7. When does the rule of paying Y95 apply? Be as clear as possible for full credit!

8. If a2y steals a Ny, but did NOT vnv it or sell it, how many times its value does he need to

pay if he is caught with o>1y?

9. If aansteals a v, then vNY’s it and is caught, how many times its value does he need to

pay?

10.Explain the N9)'s first nbxw of MY Ny ...

8 | 1# N0 My N9NY MHNY
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11.What is the first word of the X90)'s \»1n? *+

12. If the mwn had only said the case of N2, why would | think that extra payments go to

one who watches a nnna?

13. Give a reason why the Tpan would not be willing to allow the 9mw of his ©95 to receive

the 1 1/595:

14. If the mwn had only said the case of 055, why would | think that the n25n only applies to a

MY who watches 0"v5?

15. Give a reason why the Tpan would not be willing to allow the 9w of his nnNa to receive

the bao:

16. When the NY0) says "N2MN7, it is needed. What is needed?
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TP 1%
A9 - 135 947 XY

Nvp
#2 X))o MAP N #1790
Nvp .1 NOUD
NN 92°m7 @ How can the Yya be #2 XYvn
the & ' 1 NINY
it’s a SR LLCLE
s #3NPN
PNy
#1 vwn 2 P #1 27p9)
N2 P #2 NP
#2vvn .4
N1 1 (this is what 829 means) :
the bya said
wvp W3
NY 9 If the Yya gives over the N9
from the oY .5

why doesn’t the 9w get the

?
#30vn 7
MINNT NN, this is what X219 actually
said:
noNy .8
N0, What is the difference
between

NP9 ONN: What is the difference?
Why is the bya willing to be mpn

the but not the
& the ?
9 .6
T O:

NNYYN NNINT NNV :

But x9N NNNT XNAV:

#2 197p9) .10

DINA N»PT: According to 1
answer:

According to 2"

NY T NowvIp According to 1%
answer:

According to 2"%:

#1 N"pay 9
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(.19) 3 - 18 MV NIThY MINY (Please use your X99))
©)9nY — Translate : Write the translation or the word of the x9%)/nwn
Give ovgr to be ) -
acquired
)\ L) NN 199N
75231
993 M YN b1
That he will be ,‘;';‘; That they will be
found 139 stolen
He will admit Nnbe

SRR A I S

Who asks the nowp? *

How does one make a yp on a small item?

On what line does the X)'s Nowp begin?

Step 1: The NOVUD

How can one make a yp on a larger item (like a cow)?

End?

What is a "09yY N2 NHW 72T 1?

What is the N90)’s rule regarding a ©21y> X2 XYW 7277?

7. Who argues on this rule?

8. When does he say (what is his example) that a person could be Mpn a oY N2 NOW 72717?

(3 words) *+

9. What is the reason that a person could be Mmpn this? (2 words) *+
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10. What are the 3 reasons that even 171 would agree that our case of Y95 is a X2 XDV 727
o2yY and one cannot be Mpn it? (Hint: Begins with the words Non Yan)

1. * 9% ), Who says:

And even if it will be ,

2. * 9% %, Who says:

And even if it will be ,

3. 0% 9% %, Who says:

N4, maybe the 23 will

11. In the X»IN Mn (the original thought of the N91)) when do we think the 99w

is going to be "M (acquire) the Y95 from the bya?

NN 92999 DY PPN (RIYP
e IPN OIN PN

*o00 ﬂ”,, ,”
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2# N9NY MYNVY - Quick review

1. What is a oYiyb Na NOW 1277?

2. What is the case where 7N 1 says that a person can be X2 NYv 92T Npn

oowo?

3. Translate "ynN7T>71ay". Give your own example of something that’s ynNT »ay.

4. What are the 3 reasons why the case of our mwn of getting the 595 is NOT a

case of INNT ITOY?

5. Finish the sentence to properly summarize NN 92 °97’s NOWP: How can the

owwner glve over the 993 to the 1MW if it's

6. Which X710K gives the 15t Y37’ on the NwWP?
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(.19) 7- 3 MY NIHY MHNY (Please use your X91))

0)9nY: Write the translation or the word of the x9).

89 19 992N YY)

959N 19 AP N9
VTN M) If so
N YN Also

1. According to 8N 9299 (in the XYwp) when does the 9w acquire the Y95 from the Sya?

(Write answer and then |box| it below)

2. Complete the »owp that NN 929199 asks on our MWN? How can the Dya be MpN the Y95,

lt's o

3. According to X27's answer when will the 9w acquire the 595 from the Yya? (Write answer

and then(circle)it below)

4. When N21 says the words MY 9N nwyyr, “it’s as if HE said to HIM”, who is speaking to

whom?

5. When Na1 says the word ywayn, “from now” what time is he referring to? (use words from

chart)

6. What is X731 79's NOWp on X217 answer? (Place a Y& where this should begin to happen)

7. How does N1 1 know that the 9mw certainly doesn’t get these items?

(N7oNn NYY)
. .

\
et 5 v.\\ﬁ\”/ .

’mu

i

epi

14 | (80N 92 91D9) DYDY KA NOY 12T #2 NOND
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_11 - 7 Y9V 9D MYNY (Please use your X91))
0)9nY : Write the translation or the word of the NX99).
NPOO INN)
NNINT NOIND
VIPN TPy

8.
9.

10. What is an example of nownT Xnaw?

. (Review) According to a4, when does the 9w acquire the 595?

. (Review) What was X1 /1’s Xowp on him?

. Explain the nYxvw?

How does X% '3 answer his own »owp and modify X27's )y p»n?

What is the X90Y's AYNW on Nt 1? *

What are the 15t two words of the X99)’s \y1n? *

Translate: xnYyn RNNT RNV -

What is an example of Nnbyn XNNNT RNAW?

Translate: nonnT xNaVY -

11. Why is the bya willing to be Mmpn the NnSYN NNNT XNAY, when the 9w pays?

15 | (0N 92 9199) DYDY KA NOY 12T #2 NOND
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15 - 11 MY HthY MYNY (Please use your X91))

0)9nY: Write the translation or the word of the X9).

N

3
4
5

o

7
8

9
1

N1
NN 197999353 Tmo
N1 9123 SN

. When the X91) says " IINXT 82N what is it trying to do?

. What is the Nwp that the Xn) is trying to answer?

. Which number \»»n to this ®wpis this ? (Circle) 1 2 3 4

. True or False: The »nNT NN is modifying X29's original \y 1.

. According to the » N7 82N, when did the 99w become the owner? *+

Place an X in the timeline below to show your answer for #5.:

(n17°091 NyY)

g
A

S

e

i
e

i U/

. What is a m»n Xp2) (abbreviated as n7pm:)?

. When the x99 asks "2 81”7, what “difference” is the X9 trying to understand?

. (above) the time that the 9mw acquires the )77>9 according to the 1% X077 of X2
(Circlg "

0. What is the 1°' n7p9) between the 1% \v1n of 829 and the »1MNT XN's? * (3 words)

16 | (0N 92 91D9) DYDY N2 NOY 12T #2 NOND
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11. What is the 2" n7pay between the 1 xy»n of X327 and the »NNT XON's? * (2 words)

12. Draw an arrow and label it oaX in the picture timeline (on page 16), to show the time the
1N2 was in the DIN.
13. Should a 9mv that pays for the 177729 receive the M) and mHy;

- according to the 1% \y71>n of X35 (explain why):

- according to the 2" vy of X211 (explain why):

14. If the NnNa was 7O NP a moment before it was stolen, what would the n25n be;

- according to the 1°' yyvn of 27 (explain why):

- according to the 2" vy of X211 (explain why):
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19 - 15 M9V D9HY MINRY_ (Please use your x91))

(O5V 295977 N - N 77)
©)9nY: Write the translation or the word/s of the x91).
NN U And he doesn’t
want
I am willing (going s NN
to)

What is a Ny0?

What is a m>N9?

When the X99) says ” 1) », what does it mean?
Which 10X does Xax 92 X»N 1 quote a X from?

Explain the y7 of yny :

What is the N1 from the nywn that begins our Xono? *

N oo ok~ w N Re

True or False: A N1 can be used to prove that something is either correct or NOT correct.

8. What is a p»1?

©

- Rebbi gave only me $1. =
- Rebbi only gave me $1. =

- Only Rebbi gave me $1. =

Explain the p»7in the following 3 statements:

10. From which words of our mwn does the 890) attempt to bring a MX9 against pny 1? *

11. ¢ What is the py7 that the X71) makes from the word 7o>» v ? *+

12. Explain why this is a >89 against the 7 of YNy A:

LIP!* M says the IM/e gets /55 even of

18 | DHWN 27N DN : #3 NN 1) @
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et from the word /@ we see that the /e only gets /o5 if

3=
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9NY MONRY 19 97 N9
22 =19 MY NthY mYNY (Please use your X913)
(PN 77 2Y 72N7)
0)9nY: Write the translation or the word/s of the X9n).
The reason NN NV
97YN N NIY

i

8.
9.

What is a non7?

(Review) What was yny v’s y17?

(Review) Which word of the mwn seemed to prove him wrong? *

From which part of the mwn does the X1) attempt to disprove the 1PX against YNy 9,

the v or the NOD?

From which words of our mw»n does the X9n) attempt to bring a mNT to the MPN7 against

PN q? *

What P17 does the X917) make from the words 7nxy X7?

10.True or False: The Xv» sounds like a m*N7 against 13Ny 1 but the 90 sounds like a 7PN to

11. What is the X)’s N)pon regarding the mynvn (what is implied) of our Mwn? *+

20 | DHWN I N : #3 NOND 1) @
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P90
19 97 N9

(Please use your N91).)

(DN 7T P15 N2

3=

©)9nY: Write the translation or the word/s of the x9).

One who rents

Like him

(in accordance with)

We taughtin a
NP9

P W nNpoRE

What is the case of the xn»12?

What is the X9 trying to do whenever it says Mo XN?

(Review) True or False: yny '7’s p1 is first mentioned on line 207?

True or False: YNy 1 says that the 9w gets H95 if he says he’ll pay for the )y129?

5. #When the xn»92 says "non XY, “and the other one says”, who is talking to who?

6. In the XNn»92 what did the 99w SAY to the bya?

7. In the Xn»92 who receives the 5957

0o

. ¢ Explain how this is a 7>x7 to PNy 1?

21 |D5WN >IN N : #3 NN D) m




Y DD/ /Y 1PN 3=1"
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32 = 25 MY NNY MYNY (Please use your x9).)
(N9D 79)
0)9nY: Write the translation or the word/s of the X9n).

(NHn3) .

ool ™34 Because if he

(NONON) wants

9
nYIY NY 7923v2a 25999

1. What type of step is 899 7’s 77?

a)ovp b)noxrv  c)mnT  d) Xn e) NI

Answer 999 IN 22N for questions 2-7

© N o U0 bk~ W DN

What is the No5n if a DN IV is Y19 on a NTPr9?

What is the no5n if a YN says NoNYND NN NNN?

What is the No5n if a ©IN 9w says that the NP9 was N2N?
What is the na5n if a 95w 9w says that the )79 was nN2?
What is the NoYn if a 90w 9w says that an ©MIX happened to the N1r9?

What is the NoYn if a DNIw says that an ©ON happened to the N129?

According to N99 /7 why is the Yya going to be Mpn the 595 to a DN MV that says nywa?

9. When the NY) says 7...1>PWa) V9 WA INT, is the MM saying the truth or lying?

10.When a 75v 9 says N2, what claim could he make that would make him mv9? *

11. According to x99 1 (so far) is the Yya willing to be mypn the Y95 to a HnIw?

12. Explain why?

13. What is nox5n nnnn nnn?

14. What 2 word reason does the X1) give to explain why a Y that says NoxDn NN NNN

will still not get the Ya5? *+
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38 - 25 MMV D9tHY MYNY (Please use your X91).)

(221 710 (PIDNT NIN) 1) 7N DY K99 77)

Complete the statements using the words of the X91) according to the 1°' ywY of x99 ’5:

1. Ao that says * (and makes himself 2»n) receives the Y95 because he

could have lied and said *

2. A9Ov v that says * (and makes himself 2»n) receives the Y95 because he
could have lied and said * or*
3. AYNv that says * still does NOT get Y95 because he has no way to
make himself * . Even if he wants to make a claim of *
, he still does not get the Y95 since it is very * NY, to make such a claim.
S ér

4. When the N9) says M INNT RN, what is it trying to do?

Complete the statement using the words of the 551 X939 (2" )ywY) of Nao 75:

U

. AYNIv that says 0own »»9n DOES get the * since he could make himself

* with a claim of *

(9)]

. On what # line does 21 1 begin his X0?

~

. In who’s name does 7121 1 quote his y7 from?

8. What is the 7 said by 121 /1? *+ (3 words of NX71))

9. What are the 1° four words of the oyv given for the 1 of 121 7? *

10. Explain the reason of 723 /7’s 7 (from #9):

23 | D5WN PN N : #3 NOND ) @
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11. If a D)INw says 0Own 9N, will the Dya be Mmypn the 95 to him?

Complete the chart using a v or % :

7RIV 3399D” 1 IIRY INIY
1995 1D MIPN Hyan oNN

#1 NO9 a9 *9Y

/ #2 NO9 29 9
INT NN

2% 79 *9>

12. According to a1 /9, when will the bya be npn the Y95 to a bxw?

3=
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43 - 38 NV NINY MHNY (Please use your X91).)
( AT 17T FPIIND NI

©)91Y: Write the translation or the word/s of the x9).

i ’
(It shlc;cL:Td be) r) Nyna N3
992N INTY NP
N1*Y
705w 990” YTINRY SN
229912 PP 5Y3ai1 ONi7
1. (Review) Complete the chart usinga v_ or X : NOO 297 NP NavrY
Will the 5yabe mp»the 595to a SXw who SAYS 2299777 XSS 377 N2 NIWY
ro5wp, according to: .
2. When the X99) says mnND XN, what is it trying to do?
3. According to 123 1 does a YN who says 70Ywn »n” get H957?
4. Which 1Y of X991 does T>a1 /1 agree with, the Xnp NywY or XNIN2 NwD?
5. According to the Xn»93, when does a DN receive 957

Which 3 key words of the xn»11 teach us this p7? *

Does the 1”121 seem to agree with the xnp Nw*5?

Which words of the X say this? *

N

Does the N2 seem to agree with the X9na NywD?

10. Which words of the X say this? *

11. Explain the X90)’s 7PN to 2% 29 and it’s NWp against the NIN2 NvwOY of N9 29:

25 | DHWN PIN IN : #3 NOND 1) @
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10. Proof to 19at 79, NYWD on X9Na NIW’Y of Noa /9

NOVP/AINY .10

We taught a xn»2 like a3 1

- AT 29T IO XN

“If one borrows a cow from his friend & it is stolen

-,122)0) 172NN 179 DRI

And the 5x1v COMES FORWARD and pays

If afterwards the thief is found

-, 207 NS DNN)

He pays 595 to the 5xw”

"HNIWY 595 yMbWN 0HWN

According to the 1%t version of 899 /1 (= 5xwmust actually pay)

This XNn»9a is certainly not a disproof

But according to the 2" version of X997 (= YN can say he’ll pay)

Let’s say this 812 (of o71P) is a disproof

11. The »95N87 N3N of X299 /4 disproves the 7'N9

2onY .11

- ,N99 27 0 N

Is the Xn»92 (of o) any stronger than our Mwn (?)

In our MW we taught with the word "o w”

And we ()N M) established that it really means ‘he said he’ll pay’

Here too (in the Xn»12 of o7P) it means ‘he_said he’ll pay’

- AN 3)0) NON

12. ASKS 7’2t 74 on #2 N99 79

Nvp .12

Is there a comparison between the mwn and xn»72

forward & actually pays! Therefore #2 x99 37 must be wrong,

-1 QP NP NON

13. ANSWERS #2 N9 7 X¥9n .13
What does op mean (?) | - ,0DTP XX
That he came forward & SAYS he’ll pay [ - .90N) ODTP
14. ASKS 193t 75 NvP .14

If in the Xn»12 of a 10w (line 22)

-0 ) MNPTN RN

It [specifically] uses the word N

- 1IN

And in the xm»12 of a YN it [specifically] says o1p

- 7OTPY DNV YN

We can prove from this | - )3”’{)
That the wording of each xn» 1 is exact (Therefore 07’7 must mean he came | _ ., 5
forward & paid and not that he said he will pay) (1) P NPT
15. ANSWERS x99 /4 (last ditch effort) N9 .15
Was the matter [these 2 mn»1a of a 99w and Sxw] | =YY

Taught together by the same authors [so you can say the wording is exact]
(Maybe there were 2 authors & o1 still means he says he’ll pay) ?7?

16. CONCLUSION

NYpON .16

They asked the teachers of mn»a

- IMNINY INPHMVY

From the o>wa1H *na of NN M & NWWVIN 9

And they said that the mn»na were taught together,
Therefore the wording of each x11»>92is exact. The only meaning for o2 is to
come forward & actually pay. This the only way a 5X can get the 592.

=N YTTN 1) PN
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Y N/ 79 199990 3-17)
9NY MONRY 19 97 N9

46 - 43 MHNY D9NY MIHNY (Please use your X91).)
(NX99 37 75 IDN)

©)9nY: Write the translation or the word/s of the x91).

And we established/

, NPT N1IYN N
(explained)

) N9N Are these similar? From our mwn

(Use Charts on back!)
1. (Review) What was the opinion of the X712 XD of 899 1 regarding a YN who says 0

obwn?

2. (Review) What was the 8w on the XIn2 MWD of 99 9?

3. What are the first 2 words that begin x99 7’s mnT? *

4. What word does our 13w (on :)2) use to say that the 9w paid for the N1pr9? *

5. How did yny 1 (see Step 2 of this N>n0) explain what this means (...vnn 0>w oW NXD)?

6. Explain 99 9's answer: Just Likke L owr MWN where it satol the word * anol

N), we established, that tt doesnt mean that the M actuaLL(d pa’w{. Rather, it

means that he he’'ll PAY. ) N heve also, L the NI, when it says
" )y ONIWN Y, Lt doesnt mean that the YN actuattg paid. Rather, it
Just menans that he cane forward anol he will pay.

7. What are the 1*" two words of the N>wp on X939 7's nT? *

8. Explain the X71)'s NOWP on X9 7's MINT?

N
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Y N/919 ' 17791910
9D MINY A9 99 N9

11. What is X999's X1N? *+ (4 89> words)

3=

+ NV NI

7QIvN 93990”

% #1 N99 29
NP NIV

‘/ /#2 NO9 29

NN NIYY

X | 1atas

7 .82 INWN OT7) , D20 ,H1ANN N9 SN

(xan) NH**H2

7 LW3AWY NN RDY 0w

(ann) NMIVN

(Level 1)

L VNN 02w 022U XY N 9

raywn 13990 VRN 190 NN
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Y N/ 79 199990 3-17)
9NY MONRY 19 97 N9

50 - 46 MMV NIthY MHNY (Please use your X91).)

0)9nY: Write the translation or the word/s of the X9n).

NN NPT NNPM
We hear
[Was the] matter YN
41 NOD 29 (have a proof)
X NIIP NIWYY Those that teach They were 139
the mn» 3 of taught T
/ /#2 NO9 24 '
NI NIWrY 111 %2) 1NPYY
X | maras 24

1. (Review) According to x99 1 of the X9na NawsY , what does the Xn»92 mean when it says

oW DNIWN OTPY!

2. What are the first 5 words of the Xn%9a discussing a 99w? *

3. What are the first 5 words of the 85?92 discussing a bNnyw? *

4. Explain the N10)’s Xowp on the 2" )1w5 of X291 of: 7...9%N”7) 99V »2) 2INP1I RN
The N2 mentloned by a MW specifically says that even if the * sags he will
pay for it, he gets the 593. Sinee this 2 is careful to specifically use the word
* - £ maust be that the N2 by a DR, which specifically used the word
(02w SNWN) ), Lt must mean that the SN actually came forward and
for itt. This N2 would now be a proof against the 274 o of N9 M

ano a PN to .

5. Which 3 words in the X910) mean “taught together”? *
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Y N/ 79 199990
9NY MONRY 19 97 N9

ov

.o

6. Why does it matter if n¥n>»13a are taught together (by the same author/v 71 n>2) or not
3\

taught together? (see hints) %

7. Explain how N99 1 attempts to answer the Novp from the xn»9a (of o) by asking: »nr

(1) 2O >TTN AN

8. What are the mxyn» ?

9. According to the NOYWIN 271 N»N Y1927 *NIN, were the mn»93a taught together? Yes/No
10. If the mn» 2 were 7N 1110 Y2y, who is this a X¥Wp on? (Circle all that apply)
® NP NIV NI 1 ONIMINIVID NIY M @AY
11. If the mn» 2 were "N 1110 >2)7 , who is this a N84 to? (Circle all that apply)
® NP NIV NI I ONIMINIWD NIY M @AY
12. Complete the X1)'s Xoppop based on question #11:

Therefore, Uf the MNMI2 were "IN YTTN 22¥, a INIW that says * A )

vecelve the 999..

30 |DYWN I NN : #3 NOND D) @



Y NI/ 1PN 3=1")
9D MINY A9 99 N9
#3 NOMD 9Y N9D
. . , Type of
Brief Explanation N99)’s words Step
Yayrh NYY N oY 1.
:[1139] NYM
478 NAN 93 N»N 97N
oYY 0YY XY 1PN 2
ANRY 99 ,NIN YN .
NYY 97¥N BYUN 23997 NN
{247
N8 N9 OV, 1IN 3.
NY PN, 09 7yawsh -IN9
NY ,09v (P1,~r)
N9 ¥aV)” ,NOYD NN 4
NYT NRYO ,7DYYY N8y ,'
NYY 97YN ¥ NN ,N8Y N7
oyw (71)
YNRYNY NIY ,NNND NIN 5.
N I/N)Pv’_yr
193N 797 1P NN
195201 N9 1IN
93997 ,191 9N , N2 6.
27N ,¥aW) 2N DHUN ORI

oYUM ,2300 NI
79 9as mvun
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7Y DD/’
9N MOHNY

P90
19 97 N9
/ DN

Brief Explanation

N99)’s words

Type of
Step

0N MY -

0N MY N9 29 9N

99V MW -

YN -

391 ,INYV NINY 119
409 ¥a INT N9 NY
MY N2 NIV
,1230) 9NV 1993 99Y
INT ,N995 1YY Mapn
99U PYI) 109 YA
93990 MINY YNV .ANNY
%9 %91 XY aYwn
%9 1770 INNA X995
NN (2) NPV vy
N5 1NN NN
AW XY NN Nann

7.
Nypn

NOD 29 YN YINT NIIN
NRY 1193 103 INIY
799 %300 YW 99N
09 ¥ INT N9
HNN NN HIWI
9NN

8.
RPN

9N 290 2% 29 1YY MmN
.05V 1Y HNIY AN
99) DININ (1) NPYL INN
N9 N912972 )9V NN
ND95 19D 2PN

9.
RPN

$79a1 297 7PN NN
,99%3n1 N9 NN
NIV DTPY , NN
L2900 NN 7ANY ,09PU)
Y95 »vUn obwun
NP NIWIYY 7 HNIWY
NMN NI OINTY N9 2497
SN2 NIYIYY NDHAYH
790290 NN NIYY

10.
/N
NOYP

” N9 29 99 9N
NPT ,)PNINNN NN
NIPINY /0P
") NIN ,”79N"a

JNIN"a

11.
mng
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7Yy DN/ Y 1PN =17
19N MINY 19 97 N
MNP NI 0NN (1) M7 Mm 12
NNP NIN OPPY ’
z IID‘T)PII N’\’J‘P
07p (1) 0P NN 13.
21N) PN
99Y Y2 NPT NN
INIY 9239 99N 14.
NPT 7Y 1P NOUD
1INy
7 NI YT 22) TN 15.
N n
29 937 MNINY NPV 16
SNOYYIN 79 927 NN )
NIPON

19539 7190 533 ,59IN)
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7Y DD/’
9N MOHNY

P90
19 97 N9

WA¥

A v that pays receivs the 593,

LYY NN RDY DDV v (N9999).1

_5“ .‘,p\\.o

...DYN 2N BRY 11D, NON,UNN DY OO XD 11900 9’ - (NI19N0) .2

The 9w doesn’t need to actually

he only needs to

Proof from a

7, NP1 9B ...17ANN NI IDIWNY 11909 /97 D959 NIIN (1IN) .6 M
WY 995 IM9WN B9V ,...09WN ®

TO a1 749: It says that a 191w who SAYS he’ll pay receives
the Ya>.

Similary a

...DIN MY : NAD 9 9N (N9139) .7

A 01 99 (who could claim the )17 was stolen, pay for it & receive the Y93).

who if he is 2»nn himself by saying *

v, if he is 2»nn himself by saying *

receive the , since he could make a claim of an U such as nMaw or
N0 and be Mva.

, also receives the Y92.
will

NN NIV (X91291) .8
(2# N9 79) ...29NT NN

A YNy that SAYS 7,
WILL get the 595 since he can
make himself 9903 by claiming

NONDN NPNN NNN.

A
<
N\

N

NP NIYY
However, a 9NIY that SAYS >»n

, Will NOT get the Y95 since
he has no way to make himself
9. Even a claim of nnn
N9N91n won’t make him 7109 since
this is not Now.

he’ll pay to receive the Yan. .

.ND DDV ND PN OV

Only if the 9w actually

ov

The 8w says, ©Y*W, and we are P»10:
will he
get the Y95. = Proof AGAINST Ny 9! »

7YAYOD NN XY B9Y, 130 (PYT/79RY) .3

NN NDY YaWI” NP RN (PVT1/901) 4

Rl wplp/

The XD says, N¥9 NY, & we are p»Tn0:

when he doesn’t

to pay, but if

he SAYS he will pay he gets the Y95.

Proof TO yny 1!

| The 1w only DOESN"T get the 953

— <

'_
DN YNWUND NI NAN KON (RIpon) .5

We cannot hear a proof from our

for or against YNy .

19w means the AW

NS

Says 2t 7 in the name of »ax: A

This is like the

NIwry of NX99’9 and against the

.9V DINON 99 DININ ... 85I 1Y HNIY 1921 79 (NI1N) .9

only receives the Y95 if he actually PAYS! Since
he gets all the 7713077, the owner won’t give him the 592 if he just says he’ll pay.

NIV,

LPIINNN NOIN N NS 29 19 9N (10nT) .11 I

The 2" 1YY of X85 /4 is NNTN the proof from the
Nn»I2: Just like we (PP ) explained in our mywn that
he’ll pay. So too when |
the Xn»192 says 0P it means he he'll pay.

e e e o e o e o o e e e e o .

This is like the

NIWY & against the

-
+.D2V DN BPY ...1NT9 HRIYN 92T 297 NN NN (9x9) .10 I

I PN to 1At 79: The Xn»12 says that a YNw only gets the Y95 if he is
7P, comes forward and
NIWOY,

e o o o e e e e e e e e o e e o o Em =

NN OTP (1) 01D INND (V) .13

Answers 2# 899 ’4: There is no Nowp from the xn»7a. N
When the X192 said o7 it means he came
& SAID he will pay.

(1_

| will pay’???

MOTPY NP NN DR NP KO DNN (109739 (Nowp) .12

Asks rat 79 on #2 X299 74’s 79n4: In our Mwn it’s possible to say
'09w means ‘said | will pay’. But how can you say 84%p means ‘said

mean the YNw

1 NN YT 22) 29 () .15

2# N99 /4 tries 1 last answer: The 2 mn»1a were not
taught bythe same author. Therefore, maybe op does
he’ll pay.

INP XY 7Y

7O IRIY 220 799N 99 22X NPT RN (vowp) 14

Asks 793t /9 on #2 899 ’4: Since the X172 by a 99w said 99Ny
and by a Y8 the Xn»92 says "o4p” it must be that the wording is
exact and o1 can only mean the YN actually paid!

exact & op must mean that the YN only gets 595 when he comes forward and

0000 TN 92X 09NN [ NOYWIN /9 92T RN 929 92T ININD 1NPYIY (Rnpon) .16

Concludes the x9): They asked & were told that the 2 myn»2 WERE taught by the same authors. Therefore, the wording IS

I This is like the NP NXywsH & 492t 74!
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Y DN/ 1791930 3=17)
NY MONRY S99 = 19 97 NN

6 =51 MMV NThY MHNY (Please use your x91))
(#2 & #1 MOINV - NDOW9)

©)9nY: Write the translation or the word/s of the x9).

MINTY PNoNa What is the 7
”m
T NP 1IN
alia Al n3

1. What is the case of the X903 that is considered to be "NVIwWa” ? *+

2. In the case that is XO>wS, what is the reason that the 9w gets the b95? *+

3. What is the case of the X0)’s 1% nbxw ? (max 7 words) *

4. Explain the 2 options that the X1) has regarding this case. Either:

a. MANTN NP ITHN -

or,

b. ™Y NTH XPT NI OINTY PORP PNYNA -

5. If the 9V is being 12 971 NP 91N, does he get the H957?

6. If the 9V is being MY >N XPT XN MNT, does he get the Y95?

7. What is the case of the 2" nbnw?

8. In the 2" nYxw what is the reason the 021 should not get H95? *
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DN MINY S0 - 19 97 XM

9. In the 2" NYxw what is the reason the 01 should get Y95? * +

3=

36 | ...NLWI, A PON #3 NOND DY NIND MORY



7Y DD/’ 1PN =)

90D MONY 219 97 N
14 -7 VY DY MINY (Please use your x93)
(#7 - #3 5NV )
2)9nY: Write the translation or the word/s of the NX91).
ANy NIV NY 1971Y
NIPN 9D 9N 810 )
ND95 \h ) INVO)
Y1919 n;r'::;’ ! PN

1. ¢ What does a word mean when it:

a) tothem b) tous c) toyou d) to him
2. endsinthe letter 3... (an “00” sound, such as or 127>12)

a) tothem b) tous c) toyou d) to him

a) to him b) to us/we c) toyou
Note: Sometimes when there is a .. at the end of a word (such as in ynn it means “them” or “you” - plural )

2. What is the x99)’s 3™ noxw, which is found on line # P X

3. Explain the 2 options the NX91) has regarding this case:

a. The o1 should not get Y95 because

b. The o2 should get Y95 because *+

4. What is the case of the 4" n9xv, (found on line 9)? *+

5. Explain the 2 options the N91) has regarding this case:

a. The " should not get Y95 because
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b. The "mv should get Y95 because

6. What is the case of the 5" noNw?

7. What is the case of the 6™ nonw? * +

8. Explain the 2 options the N1) has regarding this case: Either

a. the " gets

because

b. or the 9w gets NOTHING because

9. What is the case of the 7™ noxw? *

10.Explain the 2 options the N91) has regarding this case: Either

c. the ymw gets

because

d. or the 7/ gets nothing because
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Y DN/ 1791930 3=17)
9NY MONRY 219 97 N9

17 - 14,V N9hY MONY (Please use your X913)
(NIPOY & #11 - #8 MINY )

©)91Y: Write the translation or the word/s of the x9).

19”9 That borrowed P95V

1. What is the case of the 8" nonv, (found on line 14)? *

N

. In this case, how much Y95 is the most that the YN could be receiving (Explain)?

w

. What is the reason the YNv should get (this much) Y95?

4. What is the reason the SN v should not get any Y957

. What is the case of the 9" nbonw?

Ul

(¢))]

. Why should the 9mw that paid receive the 5957?

~

. Why should the 9mw that paid NOT receive any 595?

8. Briefly explain what x50 >02) are?

9. Who owns the y7p of the x5 >92)? Who owns the ny9?

10. What is the case of the 10" noxw (line 16)?

11. What is the case of the 11™ noxw ? *
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9NY MONRY 219 97 N9

12.In this case, why should the bya receive the 595?

3=

13. Why should the Yya NOT receive the 5957?

14. What is the X9)'s Nypon to all 11 nmoxw? *+
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7Y DN/ 1PN Qv
9NY MONRY 219 97 N9
n9tn / #3 o0, Part i
Type
Brief Explanation NY’s words | of
Step
CASE: SN MN ,NDOWs | RVPP
MNY I BYUn
N7 .OYwn N | Starts
nFrok 92997 MNP on: Line
a5un "
CASE:
997 9N I NON
N M oYun | YN
) AN DYVUN PN #1
REASON TO GET b55: a1
510 NP Y1 Starts
NIYTIN D2 L
REASON TO NOT GET Y95: onpnepa |
NPT N | v
1Y N
CASE: DoYN 999N 29nN
17529998 ,m) | AYNVY
APNTUN NN PN #2
REASON TO GET Y95: 13°99R 91 (1) NN
917 NP V1N Starts
NNRYTIN N2 on: Line
i PIANT NNYNA
REASON TO NOT GET Y92: Vet |,
19 N1 NPT
CASE: s
%3 3mdy
e osn (x| NINY
INIPN 23 919 #3
REASON TO GET Y95: NN X995
159 %9 Tayy Starts
N9 197>1Y ONWe) | on:Line

REASON TO NOT GET 525:

NIV NY NnYTIN

#
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7Y NN/ 9 ‘r’i’Qﬁﬂ 1OV
9NY MONY 219 97 N9
CASE: NI ,0%2Y oy
%9 99N 18N (2) Ny
NMAN 79 PN | #4
REASON TO GET Y95: NTaYT 89295
YV N NYY Starts
11999 1IN YaN on: Line
REASON TO NOT GET Y95: No NODTONND |
INwWY —
CASE:
NINY
#5
REASON TO GET Y95: 02Y 01 MNYY
NN Starts
on: Line
REASON TO NOT GET Ya: ,
CASE:
NINY
#6
REASON TO GET Y95: 1N ANNN DIV
Starts
on: Line
REASON TO NOT GET Y95: "
CASE:
NINY
#7
REASON TO GET Y95: M9 'Y INY
191 HNX DIPYH S
DND ont:al.rit:e
REASON TO NOT GET Y95: 4
CASE:
NINY
#8
REASON TO GET Y95: POMYN N INY
171 1NNY B9
s siarts

REASON TO NOT GET %95:

#
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7Y DA/’ 1",7m:‘n 3=
79NY MYRY e ) 9% N99)
CASE:
YNY
#9
REASON TO GET Y95: YNUY oMY
1919 1NN OOV
N on: Line
REASON TO NOT GET Ya5: "
CASE:
nYNY
#10
REASON TO GET Y95: AYND I ONY
nYyah oIy Starts
NN on: Line
REASON TO NOT GET Y25: 4
CASE:
YNY
11
REASON TO GET Y95: NINYY NYN
Abya oYYy
N om: Line
REASON TO NOT GET Y95: .
2] NIPON
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7Y DD/’ 1PN =)

90D MONY +1Y 9% N99)
#4 NOMIO
20 - 17 9V D9thD MYNY (Please use your x91))

(N7 77 - 0T

o)nY: Write the translation.

Y mon AN
Silver coin worth 4 s NN
o7 N2¥n nypNa
Silver coin worth Silver coin worth
2n
% of a ybo 2 ©OIYT
995 We make him
PYIN
FEn) ) swear

1. Which y7 of our #ywn does X1 27 come to add on to?
[0 yawbH Ny x5 09w - If a 9w says he will pay and not swear

[0 oYvb Ny 89 yaw) — If the 90w swears and doesn’t want to pay

2. What is X)) 27's 17 (5 words) *+

3. What is the reason given for X»n 29's y7? ? (5 words) *+

4. Explain why someone who is 999 995 is 109 from swearing (NN»INTN):

5. Create an example of a case where someone is being nspna NTn:

6. Why does the N7 require a n¥pna N1 to make a NY1Aw?

7. What is a y92¥n?

8. From where (what source) does the X91) bring a Nwp on X0 27's 17?
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9NY MONRY 219 97 N9

9. On what 97 & line # will the x93 finish asking this Nowp?

10.What word does the X913 use to indicate it is asking a powp? *

11. Explain the case of the mwn: 7NOWNN TAN) NOWNN DY 1IN NN MDY

12.The mwn that we bring has # 4 different cases. What are they called?

#1: NvOIYT RYM #2: T XD #3: NRYOT H4:

13. @ In each case of the mwn, what are the mbYn and MY arguing about?

T RO

14.Write the names of each of the coins:

A
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7Y DD/’ 1PN =)
9NY MONRY 219 97 N9

30 - 20 MNY DN MINY (Please use your X91))
(Cases 4 N7V NV )

o)nY: Write the translation.

mY oy by

1. If a 9w says "OOwN 1IN, RNPINTA is he 2N to make a nyaw ? OYES O NO

2. (E.C. Which words of our mwmn on : )5 97 say this? *)

3. What type of nyaw is 800 1 requiring a 99 who said 70>wn »>»n” to make?
0 NDINRT 0 a7

4. @ In each of the 4 cases of the mwn in myav, what are the mbn and MY arguing about?

a. The MmYn said: | Lent You a * &K&the* was only worth a *
b. The MY said: No, Youlentwmea *_ &the* _ was actually wortha *
Therefore | owe you: a)nothing  b) 20017 )z 7 d) 3 029107
8. What is the Y7 in the X497 X¥Y19? (Crossout the incorrect words to make the )T correct)

.....................................................................................................

9. Complete the chart:

291, You owe me vs. | owe you | :M¥ pawnn | ANIZD NPT NY
You owe me: 2) S5pv M9

Mo

| owe you

a. The mbn said: | lent You a * and the * Wwaos ong worth a *
b. The mbY said: * No, You lent wme o * and the * was worth

Therefore { owe You: @) nothing b)) 2007 )z w7 d) 3 w7

—l
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11.What is the 7 in the XYY X9*9? (Crossout the incorrect words to make the )T correct)

.....................................................................................................

12. Complete the chart:

2N, You owe me vs. | owe you :MY MYNnn L NY*T N
You owe me: MoN
| owe you: ey nedel] NP

a. The MY said: You lent wme o * and my was worth

Therefore You owe me: &) wothing — b) 2007 ) + D27
b. The Mon said: No, | lent youa* __ oand your was worth *
Therefore [ owe Yow: @) nothing b)) 2007 o) # W7
14. What is the 7 in the X9*947 X¥*9? (Crossout the incorrect words to make the 7 correct)

.....................................................................................................

15. Complete the chart:

2N, You owe me vs. | owe you MY 1IVYNn NN NOYDT NV
| owe you: 91
You owe me: P

16.Explain the case of the N9*DT 8D - the 4™ case of the mwn in mynv:

a. The My said: You lemt mea _ and my was worth .
Therefore You owe me: . nothing b, 207 .4 W7 d. 2 997
b, The mbn said: No, | Lent yowa ___ and your was worth
Therefore [ owe You: = A wothing b, 2007 ¢ 4+ D7 d. 127
17.What is the 7 of the X997 X997 (Crossout the incorrect words to make the 7 correct)

.....................................................................................................

18.Complete the chart:

29N, You owe me vs. | owe you MY Novnn ﬂlﬁbﬁ NPT NOYD
| owe you: <91
You owe me: -y
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7Y AN/’ 1PN =1
90D MONY 219 97 N
40 - 30 MV N9TNY MOINY (Please use your X9))

(Final 7 & 55xmY's explanation of the mwy)

o)nY: Write the translation.

MIYLN NN NN

21955
Y

1. (Review) Summarize: In the 2 cases of the X, who is claiming money from whom?
a) MmYnis claiming against the mb b) MY is claiming against the mbn
2. (Review) Summarize: In the 2 cases of the XD, who is claiming money from who?
a) MYnis claiming against the m>  b) MY is claiming against the Mmbn

3. Translate the final Y7 of the Mmwn: 798N N1PaNY I 1yav) M .

4. Who is the: "Osx W1ponw »n: The mbp or the M5 ?

5. What is the reason of the mwn to explain why the "MY8N N T1PONY "7 must swear?

*

Meaning:, maybe if the swears, the may “find” the “missing” yown
and then he will prove that the was a huge liar.

6. (TRUE or FALSE) This is the X1)’s question of N»WNN: “Oun which case of the mwm is the
Anal PT of ISR PNWIPINY 90 1AW N seferving to.”
7. What is the reason the X9) gives why the 7 of ...yaw) » cannot be referring to the x»©?
Because in the NOD the anyway neeols to stnce he Ls the one that
was being *

8. How does YNmv answer the question of X»NN? The case that the Y7 of Mm s
referringtoisthe  a) NYYTNYT b)) NUITRPD  ¢) RPDTINY) d) NPDTNRYD

9. Who is 2»n to swear in that case and why? (Crossout the incorrect words to make the Y7 correct)

..................................................................................................

10.Summarize: The p7of ....yavw >» comes to say that instead of the swearing as he
is supposed to, we instead place the 712w onto the because we are afraid that he
might “find” the and thereby prove that the is aliar.

48 | YMWI2HIRY NNV /NNIN T #4 NOND ) NND MDRY



7Y DD/’

9NY MONRY

TP
19 997 XIN)

3=

OUTLINE #4 N')YO

MW 1RV 13297 naw — RN 39 (N99°0) .1

(NDYDT NOD) 4

= a»n MIN
NYPNA NN

— M9 YN
9591 4913

(NDYOT NUIY) 3

—2mn MY
nYPNA DTN

(NVIYYT NDYD) 2

— Mva MY
591 9915

(NW9T NW) 1

7L A98N PNIPI9NY 0 Yav)
mywn - take away the nyaw from the NYY

and make the 1193 swear MW N0 NNS

(NOUD) .2
MUN
MY

109 2295 3819 2350 1MW NINY 1IYM YANWNT 113 KIN 2979 RIPX ON) (XU .2)

If X07737is correct & the m5» swears that it is not in his v, why does the v take away the
avof mv v from the m5and place it upon the m50?

(maw nawvn)

$13294 NWAY
7MW N N2

NI 29

nMaY AN
1IN NN

mwIa

(DP¥Y9'M) .3

N)N2D 29

YYN A9

”aN

©) 29

(X24) Has

(Changes our
understanding of the
mwn.)

The case of the
YN in MYV is
where the N
trusts the Non
about how much
the yown was
worth
(992NN NON).

Therefore, we only
require the mn to
swear about how
much it was worth
but not wxw
MW (that is why
there is no issue of
VY HNDN).

(Understands the mwn
completely differently.)

In the Nywn in myaw
we are NOT taking
the ny1aw away from
the mb> & giving it to
the mbn.

Rather, the mywn
holds that both the
MY & MY swear.
The mbn swears:
IV 1NV, The M
swears: MY NN NNI,
(like he is supposed to
NIIINTND).

The final y7 of the
Mwn is just to tell us
that we make the
Mon swear before
the Mo swears.

The mwn in myav
which requires the

mbn to swear
MY NN NNo

instead of the m>
agrees with X0 a:
that the nY91m must
also swear )NV
vl

Although it seems
that there is no
reason for the mbn to
be making the 2™
nYav of Mw nPn NNo,
the ©non made a
9% to protect the
MY just in case the
Mmon would say (after
the mbY swore how
much it was worth)
rpnrsn”, “l found
it”.

In our NMwn there is
no Nay of X»n a4

since there were
ANV DTy

Since there is no
INIVIL IPONRY NIV

we require the mbon
to swear instead of
the n.

Q. Asks the 813, why
make the mbn swear
if there are o>1y? Ifit
was stolen there is no
worry that the mbon
will find it and ruin
the mb?

A. The mbn knows
who is a suspect. He
will be nmv and find

it.

In our Mwn there is
no WAy of X»n a4

since there were
NAIVIV D7y

Since there is no
INMVYIL IIRY NIV

we require the mbn
to swear instead of
the n.

Q. Asks the 8,
why make the mbon
swear if there are
or1y? If it was
burnt there is no
worry that the mbn
will find it and ruin
the mb?

795 makes 1 nyav:
7Y NN NNo

MY & 1Y both swear:
M99 - IMHYH2 1IINRY
M = MY N0 NN

M9 makes 2 mwav:
MY ION &

MY N NnNo

95 makes 1 nyav:
MY DN NNo

195 makes 1

av:
MY NN NN
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Y DN/ 1791930 3=17)
9NY MONRY 9 97 N9

4 -1 0) MNY NINT MINY (Please use your X91))
(1# )11 - N7 77 5y Novp)

o)nY: Write the translation.

9994 (oN)

v~ Ir1fr | .=
NPIR 31 NIV
791 N0 nyvT

2. According to the mwn in myav, why did the o5 take away the nyyaw from him?

3. When a mbn gets a "'own what type of 9mw is he like?
a. o MMV b. 70w ymv c. MW d. Sxw

4. According to X)) 29, what is the nyaw that a 99 that says obwn »»9n required to make?

5. N7 3975 NN 0N : If XD 20 is correct & the MmN swears that the 129 is not in his mwA,
who should be the one swearing how much the 19 is worth?
a. "on b. m>

6. Explain the N10)'s NoWp on NN 27: 709 9399 581 9950 MY NPRY 1191 ¥anwnT 1%

7. What is the X0)’s 1 1N (n2/x27) ? *

9. What is the X71)’s N>WP on X217's 1PN (...29N ON)?

N, e N 1
(MY Nwn) ' 6\
$99297 Hynivy PPN U T ”73”"
7Y N Y Smwsa | OYTY AL

navIv
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Y DN/ 1791930 3=17)
9NY MONRY 9 97 N9

10 -4 MY D9NY MHNY (Please use your X9133)
(#2 Y17°1)

0)nY: Write the translation.

9% 90 999 1N

NYYA D9y NP DN

[y

. How does q0y 1 explain the Y7 of 7...yawy "7 in the Mwn in Myv?
In the NPT NOD the reasom the WLl not need to make a IV that the NIVP

LS XIMVIT IPN (S becawse there were ™ that the Novw was *+

N

What is the X91)’s Xvp on 901 27’s \1PN?

w

How does 901 29 answer this wp? *+ (3 words, line 6)

4. Explain the N91)'s second NV on qDY 29: 99199 79 NYVY 93 , NN Yanwn ’3 991 N (using
only the words 7959 or 7115):
How does Lt help to take away the IV from the

(Who (s 37D to swear NI INTLY)
and foree the to swear since he had the Novp last - and we are afvaid that he
may be PP to find it and 09 the ____.. Whyy aren't we just as afraid that the

Will also be IV, find the Novw and make the 210922

5. Explain the N91)’s answer:

T
(MY NIun) Fr &‘
M 1)3aT p-o ‘ AN’

NIV ...¥20) . 7avnn
Ny
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9NY MONRY 9 97 N9
15 - 10 MY DND MONY (Please use your X91))
(#4 & #3 D>¥17°7)
0)9nY: Write the translation.
nradat)! 1) 4% N7

1. Whatis 800 27’s p17?

2. Explain the N1nY's XOWP on NN 27: 709 2591 581 5350 ,)MVWA3 NINRY N9 YanwnT 1%

3. How does »ax answer the NoWp on 8NN 277? *+

4. According to »an the m>n DOES make 2 myav:

What is the 1 nyyaw the mM5n makes?

What is the 2™ nyyaw the 75N makes?

5. Who says the 4" \yn on the Nowp on XN 29?

6. In the 4™ \y7>n, both the MYn and the MY must make a Nyyav:

What nyyav does the m¥91n make?

What nyyav does the DY make?

7. According to the 4" x\y7>n explain what the mwn in My1aw means when it says:
IPON NN NN RO, AT AW NIV ITEN NTPIONY M (1) yaw)

8. What key word does the 4" ¥17>1n need to add into the mwn to explain it like this? *+

&

2 @5
‘@
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Y DN/ 1791930 3=17)
9NY MONRY 9 97 N9

23 =15 ,HHIVY DY MONY (Please use your X91))
(Novz & Y)yPPron X7 39)

0)9nY: Write the translation of the NEW words or phrases

FAPPRS) yanwsh 90
(hyav) 2)
nMmp NDOYNRYY NN

v A W N

10. What is the Yy »n? *

11. How does »7vA explain the \yvn? * (5 words min)

What is 810 29s y17?

Who is asking a Nowp on X0 297?

On which line does the nwp begin?

From which case of the mwn in myaw is the Xovwp based on? *

Explain that case?

Who is 109 in that case and why is he 109?

Explain what a nyyav S0 is?

If 830 29 is correct, who should make a Ny aw in this case and what myaw/nyav should he
make?
Who says the X\y71°1n on this XWp, YUN 27 or N)ND 177? Use (at least 2)

words of the X91) to prove your answer? *+

12. Based on this \y71°n, does the MY make a Ny1aw of "YMWH2 PN (XN 29) in the MwnNin

myav?
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7Y AN/’ 1PN =1
9NY MONRY 9 97 N9
30 - 24 MMV NIThD MHNY (Please use your X91))

(Explaining X775 29’s new w9 in how to understand the v in my1av)

©)9nY: Write the translation of the NEW words or phrases

)2 7Y 0P 12399
0»Pn NN
’
k! NV >R

1. Explain X315 27"s \y1n of wnxna Xnn. Why doesn’t the mbn need to swear Mmwia IdRY”

in the MwnN in Myav?

2. What nbxw does the X) ask on N5 29's Y dn?

3. What is 815 279's \r»n? (4 words) * +

4. Explain the nbxnw of 71P»a MD 0P MY Mdn N ?

5. What is the X)'s Y\ n? (3 words) *+

6. The X1) asks a final "OXW on X35 27's \y N :

MYNY 159 PIINT MY NIY INMY, what's the difference (how come) the trusts the

Mo that it (s not L his

MYY 159 1199719 KT M9 RIW INMY, andl what's the , why the doesn't
the MY as to how Lt Ls worth?

7. How does the X3 explain why the M) trusts the mbn but the MbSn doesn’t trust the mb?

The MY trusts the M n because he is ©»pn in him the P1vo of: *+

The mbYn doesn’t trust the MY because he is ©»pn in him the P1vs of: *+
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7Y DD/’
9NY MONRY

1791930
9 97 N9

3=

30 =1 MMV, #4 RO NN

Recap (from :75) N30 74 said a »7: Whenever a 99V says he doesn’t have the item
MMYIA NORY NIV IMN PYavn”. We asked a 0w on him from the nywn in myaw: The
MIVN says (NWIT XOD) that a MY who is nYPpna N4 to the NMdn regarding how much a
NOWN was worth is 20 to swear XN»IXTN how much the Nown is worth. However the a9
take the nyyaw from the m> and instead make the m>n swear. Since M>n had it last we
need to make sure he doesn’t “find it” and possibly ruin the mw> npin of the NM>.

The X91) asks that according to n0 29, the Mbn already swore that the nown is 1N
yMwA3, therefore how could he possibly “find it”? Since the nawn says that the 7on
swears anyway, it must be that X»n 24 is wrong???

The 891 offers 5 possible 0'8Y9'n:

NI

NN D122

nY994 _ A\ 1INRY NVAY | CASE (90%)
= / - = 1MHVYI] or
(]J:l‘\‘f)
(rz:\:-\?;:&?) M) MYV MIVN (M277 /8NN 29) 1
yaw)
0r7y” 139
X 2 ﬁ 24 X 799V Line 3
X 191 X 1230 DITY q::; ;"
AN
X 1150 150 R o
A yawy N YWUN S
ﬂ’b x M2 yav Line 11
, BEILEFY
X /7 ’,"’f) X 139N NN s
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Y IN2/91 /Y 1PN =17
9NY MONRY 9 97 N9
19t Answer the following mb5xv (Use the charts)

1. According to N34 who is swearing and what is he swearing on? (Circle & connect to their ny1av )

e MV MN NN3/How much i@ e MY INRVY/It's not in my MmvwH

2. According to 99 ’9 who is swearing and what is he swearing on? (Circle & connect to their ny1aw )

® MON o M>
e M N NNO/How much is it worth e MY 1RY/It’s not in my mvA
3. According to »ax who is swearing and what is he swearing on? (Circle & connect to their ny1av )
® MON e M>
e MV "N NNd/How much is it worth e MV INY/It’s not in my mwA
4. According to *WN 29 who is swearing and what is he swearing on? (Circle & connect to their ny1aw )
® MON e M>
e MV NN NNd/How much is it worth e MY INVY/It’s not in my mwA
5. According to X3n5 29 who is swearing and what is he swearing on? (Circle & connect to their nynw )
® MON e M>

e MV 7N NNO/How much is it worth e MY INRVY/It's not in my MmwH
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7Y DD/’ 1PN =)

9NY MONRY 9 97 N9
37 =30 MY HNhY MINY (Please use your X9m3/notes etc.)
(7922)
0)9nY: Write the translation of the NEW words or phrases
H an 9% N92)
ND
’ ’
NIYT NMAMN NI
DN /99
NINVYIN 2N
9av NV, 91N
12y 1A NPIN

1. What was 8932 809, Tpon to his friend? a. NYPRY b, c.Ooydy d.ovan
2. What did the 9w say to the Tpan/Hya?  a. MPIAMNX XN NWTNY b, HPO RN €. 2955 1N

3. To what did y2n3 7 compare the 99 v’s response to?
a. Stealing b. Accident c. Lost d. Negligence

4. What was y9n) 7’s poa in this case? *+

5. How did the 9 react?
a. 0w O b. 0YYv 5t C. oM%Y 2N d. MITONY AN

6. What did yony m do?
a. ov NO b. 09w Hn C. o9 AN d. TMITONY TN

7. What happened after the 2> were nanwIR? *+

8. What was y9M) 7’s new o9 in this case?
a. NITON XYTMN 001 b, N C. MITOND MAN d. mnp N2 N

9. Explain Xa7's Nowp of 7yavwh Ny XYY 0w (07vA)

10. How did y9n) /1 respond to Xa7's Nowp?
a. NOYVOINND b, TAY VOV C. NMNIVN d. Y TN N

11. Why did §29 say that yan) 9’s response was good (appropriate)?
a. NYT125 PNIVN NON ,NIT 2T PHIVN XY ONN
b. X»752D0 PNIVN KD NON,NXIT 2D MNIVN ONN
C. DNNMNIVN NPT IAY ,MNIVN XD NPT 2D XON
d. X»7>25 MNIVN ONN,NRMT 2D PNIVN KD NXON -
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N9NY MONY Y 97 N9

12. In your answer to #11, what does onn and x50 refer to?

NI -

ov

onn -

13. Based on this story, what can we learn regarding the 7 of our mywn of N¥7 N9 OOV

yawrH?
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7Y DD/’ 1PN =)

9NY MONRY 9 97 N9
40 - 37 MV DTNY MINRY (Please use your X9m3/notes etc.)
(Nx0w)
0)9nY: Write the translation of the NEW words or phrases
mn myva NMIY
R
’ ’
NIV 9090 NP
Name of a town in
573 onyy NIN

1. What is a N and when does 72 take one?

2. (Review) In the case of »9*2, why did yon) 1 take the NTION?

3. (Review) In the case of »o5, why did y9n) /1 return the XT9N to the 99w and the »95 to the

TPoN/OYI?

4. Based on #3, what 7>N1 does the X99) want to bring regarding y9n) /9’s opinion of npw? *

5. Explain the X70)'s \Y1N/MNT to this NI NIPWH 2995 7177 NPT, 7171 TIY0I NOIWT D177 INY

L. e 2.
6. Based on the previous )N, what may y2n3’1 hold regarding a wa;'/ ,"“
NOW? a. TN NNW b. 9717 N> NV \ g }
7. What is »y719n)’s opinion regarding 971 N0W? @& < | 3.

a. DOVWO AT NDWY b, NIV OINP DN TY TN €. NIN NYTIMN NN
d. mMn myva NWT

8. What did 90X say regarding 9710 Now?
a. DYWY AT NMY b, XKNYONP AN TY TN € RN RYTINM X d. 7N Myoa XmwT

9. What is the N91)’'s N)pOn regarding 7710 NMVW?
a. 0HWY ITI NNV b. RNYOINP ADIN TY TN € NIR RYTINM NN d. M Myva XmMv'T

10. What is the reason for this no5n? *+
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7Y DN/ Y 1PN 1OV
9NY MONRY 9 97 N9
43 =40 MY HNY MONY (Please use your X9m3/notes etc.)

(2# - 1# 112577 ,NOW)

0)9nY: Write the translation of the NEW words or phrases
991y 29N 99 MY
byab nYNNT
mna 29N 1N
9N
)
N2 YN 79

1. (Review) What is a N»W?

2. (Review) What is the 109 that obligates one to return a NW?

3. Explain the case of the 15' n55N: A%157 2N Y¥ah NAWY N JINY 2N H¥aY 1Y Y

f4

a. Just like the 15t 2yn Yya must return the MW so the 2" 230 Yya must return the XMW,
b. The P03 requires the 15t 230 Yya to sell the Xmw to the inheritors of the 2" xmw.
c. You are no better than the one who sent you here in the first place.

4. The N9y says that in this case the Na5N is NVYWA that

19391 HHANT X2 NN 924y N5, Explain what the X99) means:

3 T
. o ( @
5. Explain the case of nanna Nan», NN ,NAt: -l
- >Nmm
N
&0 N T

ﬁ MInna nane

6. In these 3 cases, can the mY get back the 8»W from current owners? Yes or No
7. Which 3 words of the X9 prove this? a. MN) RYINT NIYTN b. mNI M XNYTN

8. Explain the phrase you chose:

9. Inthe 1%t 39N (see #3, above) isthe 2" N5y a. MM RYIRT KOYTIN b, 1IN OHITT NAYTN
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7Y DD/’ 1PN =)

9NY MONRY 9 97 N9
46 =43 MMV HNY MINY (Please use your X9m3/notes etc.)
(3# 1715577 ,800)
©)9nY: Write the translation of the NEW words or phrases
They took a NOW N3YDIN They made a
from her N for her
TPl "02) Husband
YoRn 19 (of »o M99 (of
NON) NN Y0I))
NIND NYIN NOYIN

i & W N

(Review) If @ 230 Yya takes a N from the MY and then sells it. Is the buyer obligated to
return it tothe m>? Yesor No E.C. Why? *

(Review) What is the one word that the X910 uses to describe this case? *

What is 2910 v09)?

Who owns the y7p of 2on »03? Who owns the m>a?

What is the case of N2Y9IN) ,AYNT N9 MW?  (Circle the word that gives you your answer)
a. A married woman’s property was evaluated and taken by her 2yn bya.
b. A2 Yyatook the property of a woman and then she got married.
c. Awoman 20 Yya took property (from a mY) and then she got married.
d. A married woman took the 20 Yy¥2’s property.

. What is the case of X2Y0"N) ,AYUNT N3 MVW? (Circle the word that gives you your answer)

a. A married woman’s property was evaluated and taken by her 2yn Yya.
b. A2 byatook the property of a woman and then she got married.

c. A woman 2N Yya took property (from a mY) and then she got married.
d. A married woman took the 20 Yy2’s property.

. What is a bya considered to be like (regarding the ©*02)) when he gets married?

a. Annbdya b. Am> c. Anpwo d. Amdn €. MUK Y0

. What is the Nn9Y9 in the case of N2Y9DINY ,NUNY N MY?

a. NDOMN b. M5 77N N C. VTN NO d. »n NP>

. What is the Nn959n in the case of N2YDINY ,NYNT NN INIY?

a. NDOMN b. M5 77N NO C. VTN NO d. »n NP>

T
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9N MOHNY N7 97 NN

10. Who does the X1 quote to bring a X1 to the 3™ 129N of NMW? *

11. What was the CASE that a mpn was made about in XVIN?

a. NIONY NYURN DPNN NYIND b. Syan nnm Ndya »na nHN >OM2
C. MMPON TN NN Syan d. "M NSYa »N2 NON YD1 NIDNY NYND
12.Explain the case:

13. If someone sells a field to 1 person, and then he sells it to someone else, what is the 1%

buyer entitled to do?

14. What was the 9999 that was made in N¢IN?

a. NIONY NYRN DPNN NYIND b. 5yan nnm Noya»na NN oM
C.  MMPON TN NN DYaN d. DM NOya »Na NN OV NIDNY NYNRD

15.Explain the 159N made in NVIN:

16. Based on the mpn made in XV IX we see that a bya is considered to be a in his wife’s property:

a. 1Noya b. N> c. NPY d. mon €. MYN U

\h‘ﬂ?b

% S5
#1 YY)
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Y DN/ 1791930 3=17)
9NY MONRY $9 97 N92)

10 — 1 MY N9HY MONY (Please use your X9m3/notes etc.)
(5# - ## 2577 , N0

0)9nY: Write the translation of the NEW words or phrases

NDYT
b > )
ArWaNT NYIYN M99
Yo
A} b
131 e NOYDS
NN »MNNA NOOD

1. Explain the case of yayna ¥1N NaIN:

2. What are the 2 opinions that are 7?2999 in this case?

3. What is the reason for the 9NT 80 that holds 917 XD?  a. NI NOOYNHOIPIATNRD b, NN NOOYN Y

4. How does the X9 explain this? *+

5. What is the reason for the 9xT N1 that holds H991? a. NN NOYNHIPATRD b, NN NOOYNHOPIY
6. According to this 9mNT &0, why would the mY offer to ‘sell’ his land to his 230 Yya on his

own? *+

7. What is the noxw asked in the 5™ navn? *

8. Explain the nbnw:

9. Label each of the 3 mv>w (opinions of N27 »aX or X29) in the ‘timeline’ :
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9NY MONRY

10. Match up each 9xT N1 to their nVOV:

a. NNTON MO MYV 'ON b.

11.What is a XN2YTN Y0W?

1791930
$9 97 N92)

”aN

19 1591 1IN 11y

N39

3=

a9

C. MY NNIYIN NYVN 9N

12. What is 5 2% ymnna »1y?

13. What are xn17oN »0d7?
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Y IN9/919 7Y 199990
9NY MONRY $9 97 N92)
#5 NOMD - DY NN
" an a2 N932)
NY
b b
N 2N N9
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